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1 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
Zh Lt 1.00| 0.00 ~ 459 5719 | Zhbilst | 000 ~ 459 | 1.88 9.52 Zh Lt 100 500 ~ 5.00 5719 | #hLlst | 500 ~ 500 | 1.88 9.52
9 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 3.62 4566 | ZHhLls | 000 ~ 362 2.24 11.30 zh s 100 | 500 ~ 540 4566 | ZHLls | 500 ~ 540 | 2.24 11.30
3 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 5.27 65.77 | #hbilst | 000 ~ 527 | 1.82 9.22 zh s 100 | 500 ~ 5.80 65.77 | #hblst | 500 ~ 580 | 1.82 9.22
4 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00| 000 ~ 593 7429 | #hilst | 000 ~ 000 | 1.59 8.04 zh s 100 500 ~ 7.20 7429 | #hblst | 500 ~ 7.20| 1.59 8.04
5 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
Zh Lt 1.00| 000 ~ 6.18 7753 | #hilst | 000 ~ 000 | 1.63 8.25 zh s 100 500 ~ 7.40 7753 | #hlst | 500 ~ 740 1.63 8.25
6 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 6.40 80.52 | #hLlst | 000 ~ 0.00 | 1.69 8.54 zh s 100 500 ~ 7.60 80.52 | #hLlst | 500 ~ 7.60| 1.69 8.54
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zh s ~ zh s ~ zh s ~ zh s ~
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100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
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100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 %5 ~ InEHBZS ~
zh st ~ zh s ~ zh st ~ zh st ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 % 5 ~ InEHZS ~
zh s ~ zh st ~ zh st ~ zh st ~
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